Remember:1000mL =1L

LAPACITY

mL to L : mouttiply by 1000 (move the decimal place 3 times (eft)
L to mL: divide by 1000 (move the decimal place 3 times right)

a) 789000. mL to
d) 0.327 L to

h) 9110 mL to

k) 0.0398 L to

n) 785000 mL to
q) 52300 mL to

1) 0.0000479 L to

L b) 950000 mL to

mL

L

mL
L
L

e) 3.4 mlL to

i) 50800 mL to

1) 8.9 mL to

0) 971000 mL to

r)1.83 L to

mL

mL

u) 9770 mL to

L
L
L

L

L

c) 19500 mL to0 195 L
£)2.45L to mlL
j) 91200 mL t0 91.2 L
m) 75200 mL to 75.2 L
p) 2880 mL o 2.85 L

s)8.35L to mL



